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Question. 1 

What are some benefits of planning with planned independent requirements? Note: There 

are 2 correct answers to this question. 

A. Reduced delivery times 

B. Option to use make-to-order production 

C. Reduced production times 

D. Option to forecast planning for production resources 

Answers A C 

 

Question. 2 

What can you use heuristics in Advanced Planning (PP/DS) for? 

A. To automate material movements in material staging 

B. To set default values in production master data 

C. To optimize costs and times in production plans 

D. To solve planning problems for defined objects 

Answers D 

 

Question. 3 

You want to insert an operation at a certain time on a work center in the graphical planning 

table. The planning direction is forward. The desired dispatching time coincides with an 

operation that has previously been dispatched. How does the insertion take place? 

A. The new operation is inserted at the desired time; the previously dispatched 

operation is moved forward. 

B. The previously dispatched operation stays as is; the new operation is inserted before 

the 

A. dispatched operation. 

B. The previously dispatched operation stays as is; the new operation is inserted after 

the dispatched operation. 

C. The new operation is inserted at the desired time; the previously dispatched 

operation is moved backward. 

Answers D 



 

Question. 4 

For a production version to be valid and consistent, what requirements must be fulfilled? 

Note: There are 3 correct answers to this question. 

A. The assigned routing must be a rate routing. 

B. The assigned routing must NOT have alternative sequences. 

C. The assigned routing and bill of material (BOM) must be valid in the entire validity 

period. 

D. The lot size range must be within the lot size range of the assigned routing. 

E. The deletion flag must NOT be set for the bill of material (BOM) or the routing. 

Answers B C E 

 

Question. 5 

Which time elements can be reduced by a reduction strategy? Note: There are 3 correct 

answers to this question. 

A. Wait time 

B. Goods receipt processing time 

C. Move time 

D. Queue time 

E. Float after production 

Answers A C D 

 


